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Mental Ability (rafier orsT)

In a certain code PARTICLE is written as
USBQFMDJ, how is DOCUMENT written in
that code?

1) VDEPUONF

2) VDPENFUQ
3) VDPENFOU
4) VDPEUOQOFN
If DIVINE is coded as AFSFKB then
POWERFUL is coded as
1) XLHOJIVIM
2) MLTBOCRI
3) MLWBOCRI
4) HLTBNCRI
3 4 10 33 136
1) 408. 2) 3%4
3) 685 4) 654
. 0.4,24,7,274, 114.6, 579
1) 64 2) 42
3) 83 4 18
Arrange the words in the meaningful order
a) Rainbow b) Rain -
¢) Sun d) Happy ¢) Child
1) d,eabe

2) d,b,c,en
3) bycaed
_4) b,a, d,ce

If by arranging the letters of the word ‘NESTIN’
the name of a game is formed. What is the last and
first letter of the word so formed.

1) ES 2) NT
3) ST 4) EN

1.

fat & ¥ f§S PARTICLE § USBQFMD]J,

fsfunrr#eraleﬁairwfivoocumsma'
fa¥* fafupir Al ¢

1) VDEPUONF

2) VDPENFUQ

3) VDPENFOU
4) VDPEUOFN

AT DIVINE ¥ &% AFSFKB 3 3t POWERFUL
o & R

1) XLHOJVIM

2) MLTBOCRI

3) MLWBOCRI

4) HLTBNCRI

3 4 1033 136 —
) 408 2) 384
3) 685 4) 654

0.4,2.4,7,27.4, 114.6, 579
1) 64 2) 42
3) 83 4 78

9% fafipnt & rraaa 393t feg

a) A3yt b) TaUr ot
¢) B d ua €)
1) d,e,#,b,c

2) d,b,c,ea

3) b,c,aed

4) b,ad,ce

for

AT HeT ‘NESTIN' 2 »iuet & rat gu e fefipnr
A gt fait Yo e v w= Ater i fer gt ad 99

HE B »rdt w3 ufgsT she fager 2dEr)
1) ES 2) NT
3) ST -~ 4 EN



A man goes 10 km due south, then it turns west
and goes 5 km. Now it turns back and goes
10km. Again it goes 10km due North. Where is
man from the starting point?

1) 5km due East

2)  5km due North
3) Skm due South
4)  15km due West

Noor starts from his house and walks 4kms
North, then 3kms West then 8kms South. How
many Kilometres away from his home was he?

1) 6kms

2) Tkms

3) S5kms

4) .8kms

Akhilesh is taller than Sheebu.Aman is not as
tall as Akhilesh but is taller than Tejinder.
Sheebu is also not as tall as Aman but is taller
than Tejinder. Who is tallest?

1)  Akhilesh

21 Sht;ebu

)] “Aman

4)  Tejinder

Direction (Q. 10-12) What will come in place of
question mark (?) in the following questions.

10.

3 5
9 V76 T=:12
¢ .21
) A
) 482
) 382
3) 290

4) 280

7. f&x fenast 10 fanit Su= femr fea ater 3, feg
- Guymaimyferr ¥ 5 fat aer gz €0
fud y= & 10 farrit &t gt 3w ager igEor Qv
10&)#?33@#8#@&1@3@%3%@
Imewd g faady
n sfartyga s
2) sfnitgseds
3) sfoitdye 3w
4 1sfaitimi &

8. Fawmud wa 3 4 fait €39 fag 3 fanit T i3
feg 8 fanit Suz €& goer 1 1IQo v wo 3 43
forait &t gt 3 &

1) 6 fanit
2) 7fart
3) sfat
4) sfat

9. npitdw, ity 3 &urd s, 8w fagt e &t
g 3ffeT 3 &ur 3 ity & wiiw frgt &ar &at
ﬂaéﬁlﬁe‘w%maé‘waza?

) »di8y
2) Hy
3) WE

4) 3fireT

m(mm-mmmmﬁvmmm?i

dt Fayr 89|
10.
3 5
7 ¢ =3 (2
€ ? W§ 9
€ | 4
1) 482
2) 382
3) 290
4) 280



. 3 C a
2 . 3 - q

15 2) 18 3) 17 16

1) 25 3) 17 4 18

13. Three Positidns of a cube are given. Based on
them find out which number is found opposite
of number 2 in a given cube?

Direction (Q. 14-15) Six faces of cube are painted in
such a way that no two adjacent faces have the same
colours, Three colours used are red, blue, green. Cube
is cut into 36 Cubes, among which 32 are smaller and
4 are big cubes. No bigger cube has red colours.

14, How many cubes have three faces painted
1 32
2) 20
3) 16
4 8

15. How many cubes are painted only on two faces?
1) 20
2 16
3) 28
4 12

11. 3 | N | -]
2 . '3 _ R

) 25 2) 17 4) 18

13. féa we dhnt {38 E-&y g f&ghat st
am@u%aanfaa‘hﬁmmwzém@faw
N JRATYITad |

@®O

[5908 (YBE 14-15 )3 T we @ & wimr § s dort
wS, 518 W3 I & few I3t &8 wimit 3 Sfarwt
farr 3 fa faRt = 9 Wit 3 fed o ST 501 31 g few
Ficwzt g dforrformrI a2 82 3 4 &
uzmaé%’m@éfaﬁe?wﬁ%m&wwm

14, 43 wet a'fai‘urfmrf?afamr*faw%l
1) 32
2) 20
3) 16
4 '8

15. fad wat §fnar€rwfmr*§‘&hmlffawét
1) 20
2) 16
3) 28
4 12 .



Direction (Q. 16-17) Stady the following information

and answer the questions.

16.

17.

18.

19.

20,

Rectangles —) Scholars
Circle —  Students
Trisngle —)  Players

How many players are students?
1 9%
2) 40
3) 80
4 70

How many scholars are players as well as students.
1y 70 -

2) 80
3 %
4) 40

Pointing to Kamal, Gagan said * his mother’s brother
is the father of my son Tinu. How is Kamal related
to Gagan? '

1) Father

2) Mother

3) Nepliew

4) Brother

Mm-nM-—n—an—a4—ma-—
1) amammn

2) aamnan

3) ammanm

4) aanimnn

P-—P——PqrP-r
1) qrstq
2) qqrrq
3) qrqrq
4) qqrqr

fsotw (YW 16-17) 3zt N ot arewrdt § i

yuat @ Qv e :

 16.

19,

20.

wfezas —) Aawa
oy — fafenravt
g —  fodwt

) 9
2) 40

"3) 80

4 70

| R marmg fuht ¥ o w3 fefenraht @t 95 7

)" 70 -
2) 80
3) 90
4) 40

@ = ferrar g3 3 s A fagr ‘@Rt wrer

7 A3 {39 & e fuzr 31 o, ws er At
saer 7

n fuar

2) WIr

3) TET

4 T

m-nm-n—an—-a—ma-—
1) amammn

'2) aamnan
‘3) ammanm

4) aammnn

P—-P--PqrP-r
1) qrstq
2) qqrrgq
3) qrqrq
4) qqrqr



21. A father is three times as old as his son. Five years
ago he was four times as old as his son. Find the

present age of the son.

1) 12 years
- 2)  17years
3) 19 years
4) 1S years

22. Ifthe 3rd of the month falls on Thursday. What day
will be fourth after 22nd of the month.
1) Saturday '
2) Thursday
3) Tuesday
4) Monday

23. Based upon the following statement what conclusion
can be drawn answer as.
1) If only Conclusion | follows
2)  If only Conclusion Il follows
3) If Conclusion either I or 11 follows
4)  If both Conclusion | & I follows.
Statement-All elephants are Candles
All Candles are monkeys
Conclusion
1 Al Candles are elephants
I All elephants are monkeys

Direction (Q. 24-25) A and B are good in Mathematics,
English and Biology. B and C are goed in Biology and
Physics. C and D are good in Physics and Chemistry.
D and A are good in English Mathematics and
Chemistry.

24. Who is not good in Biology?
A _ 2) B
3) D 4 C

25. Who is good in English, Physics and Biology?
1} B 2) A
3) C 4) D

21. féw fugr &t O, oo A OR 755 e farrer
310w vrm ulast Qe Qe 37 Y e T o
Fe fameer it 1 3 o g G Nt it
N 1278
2) 17A® -

3) 197%
4 157w

22. #a@ HA3 € 35 i § oww wer 3 3t
S iE Tt 22 Sdter 3 wwre Su fes faoar S ?
) nfsewe
-2 www
3) rEswe
4) e

23. 35 fostt st mgwre 3t ¥ & few Syt Qo
e
) 7w frwsdtwr 18l d
2) vae v adiwr sl d
3) FETFIrISEIFESh il S d
4) VI ESIR I I NIE WY
TUS-AT I efant 35
qaa-wiont ivmfanit gee o5
adter |- Avdt vttt ot os 1
ST 11 Avd ot vl 3% |

{530 (yus 24-25) A w3 B 0leg, val w3 iw

fefomis uls N &8 05, B w3 C wix felemrs w3
Hax fefomrrs wags v S 35, C w3 D aw feforwrs
w3 anfer fafomes s v $& 35 1| D v@ A st
afea w3 orfeen fefos yys R & 751

24, n?tfcfammua#ﬁeiztarrmir&?
) A 2) B
3 D 4 C

25. idt, 33w fufemrs w3 viw fferrs wgs e
- Ty

) B 2) A

3) C 4 D



aRE (B 26-27) 35t 63 o et @'t Fed @
gast Mo 5% fan 57 BweT € S9sTY Heean wgAI 3§

Direction (Q. 26-27) In the following questions
arrange the words as they accur in digbﬁonary and

choose the correct sequence. e

26. a) Ambitious b) Ambiguous - . 26. a) Ambitious b) Ambiguous
) Ambiguity d) Animation e¢) Animals c) Ambiguity d) Animation ¢) Animals
1) (i), (D), (i) (v), (iv) : - D (G, G, (), (V) (iV)
2) (i), (i), (iv), (v), () 2) (i), (i3), (iv), (v), (i)
3) G, G, (v (DY - - 3) (i), (i), (iv), (), (v)
4 Gii), (i) ), (iv), () - 4 (i), (i), (v), (iv), (i)

27. a) Continuation b) Contention | 27. a) Continuation b) Contention
¢)  Contain d) Continuous ¢) Count ¢) Contain . d) Continuous e¢)Count
) (Gii), (i), Giv), (&), (V) : - B i, G, (i), (), (V)
2) (i), Gi), iv), (v), (D) 2) G, i), (iv), (), (D)
3y i), (@), Gi), V), (V) . , 3) (i), (i), €id), (iv), (v)

4y (i), (i), (D V), (V) | 4 (i), (), (), (v), (v)

28. Which of the following Cubes can be created by  28. Wﬁgmﬁgafghmgmwm

folding the given figure? Ar naé* G

Question figure |

Answerﬁgure G fizm
EEIEE) W\ || (B
®m e e @ m e e @

29. If*“white’ is called ‘blue’, ‘blue’ is called ‘red’, ‘red’

is called ‘yellow’, ‘yellow’ is called ‘green’, ‘green’
is called ‘black’, ‘black’ is called ‘orange’. What
would be the colour of human blood?

1) Red
2}  Green
3}  Yellow

4) Orange

29,

Aad T § ster faar A2, Ay § wv’ faor
&, ‘B’ § isr faor A, ‘dter § ‘ger faar
AR, ‘Tav § ‘e faor w2 ‘asr & fa3d faor

w%a*u#u"rua?&arfazrhwaearr?
n s : ‘
2) I

3) ulsr

4) fra&t



30. Five friends A B.C D and E are standing in row
facing south but not necessarily in the same order. Only
B is between A and E, C is immediate right to E and D is
. immediate left to A. On the basis of above information,

which of the following statements is definitely true?

1} Bistothe leftof A ‘

2} D is third to the left of E

3) Bistotherightof E

4) A is second to the left of C

Direction (Q. 31-35) In each of the following questions,
there is a relationship between two letters/word/
number/figure on the left of the sign (: :), The same
relationship exists between the two to right of the sign
(: :) of which one is missing. Find out the missing from
the alternatives. '

31. NLO:RPS::VTW:?,
1) XVY 2) VTR
3) TRP 4) VUW

32. BELL:AFKM::DOOR:?
i) CNPQ 2) ENPS
3) EPNS. 4) CPNS

33. 68:130::7:350
1) 220 2 222
3} 216 - 4) 210

34, Problem Figures :

35.

W
1

s8] [ood] (3]
3

@

30.

W &g ABCD»2 Efeq agv o dus o3

g eR v T g fe gt et fr G Qudes

FTHTHFATUZ I AN ER feaaodes B
31 C,ESfeaan Ry InI D, A¢ feaqond®
utt &1 Quies ¥t FreaTdt nigRte 35 fafut
fe@ fagar aus fasgs At &

1) B,ATYHURI

2) D,E@ &% yi IR Aes '3 3

3) B,E¥Mumtdi

4) A, C® HT YR TR AES '3 I

f599m (yas 31—35)33'&;&@8*&1(::}%&&'@%
witfg/ aee e /fdgat foT frag & AR Ui & fifait fae
ﬁ@ﬂﬂu&l@%@m?nﬂmﬁl

31.

NLO:RPS::VTW:? )
1) XVY 2) VIR
-3) TRP 4) VUW

32. BELL: AFKM ::DOOR:?

33.

34,

35.

‘1) CNPQ-  2) ENPS

3) EPNS  4) CPNS
-68:130::7:350
1) 240 '2)
3) 216 4) 210
Wifror Nag
.EN-'}NJ::[FH ] ?
Qu [ [ {Ha
m 12 o @
hifiowr (433
—
| HE=HEF?
gaafizw
o RN P R AR
® @

) @ -



Direction (Q. 36-39) In each of the following sets of FSORT (YIS 36-39) Ja+ Rifnit sredt Riwe'/ fosat
numbers/ figures, select the one that is different from R fewr whwt 578" vimor 3, Gn & w21

rest. ‘ i

. 36. 1) 400 < 2) 484
36. 1) 400 2) 484 3) 625 4) 729
3) 625 4) 729 .
: 37. 1) 1216 2) 60-80
317 1) 12-16 2)  60-30 3) 30-50 4) 3648
3)  30-50 4) 3648 '

m @ @ @

3s.

N/
VAN

m @ (3) (4)

39. 1O+ ¥ ] ' 39, =113 k3 AT ] =]

o\a [=]{~] ? +|O olA olo gr—] *jO

| & IR | |PE=E * v gixl] XX ||I=E
(n (2) 3 (4 T 2) (3 (4)

Direction (Q. 46-41) The figure in each of the question F580W (YW 40-4341) 63 e yus Nigat et st §
follow a series, select the figure from the given WOt ¥TQE ¥ek Izt KT o fewsyt fe¥ fex g |
alternatives which would continue the series.

Wﬁaa'
40. 40.
41.
41,
n @ : @ '_.5(;4)" , m @ @ @



Direction (Q. 42-43) In each queation given paper has
been folded as shown with dotted lines in the given
figures and last figure shows how the paper has been
cut. How would the paper look like when unfolded?

Probiem Figures :

Figures : :
{2) ) @
43. Problem Pigures :

4.

§ZN

m. @’ W

Direction (Q.44-45) Which answer figure will
complete the pattern in question figure?

44, Question figures :

fsaRW (YmE 42-43) fow o @ Zuw § g vt @
&85 o fomr 3 o f flaw Tl eamiewr fapwr
3, few fewr & wmedh NS & nigore alfewr fomr) avora

W Quia fad faar mir?

42,  Toilwer Nag
HIEE
¢'se Riza

]

I

(3 @ ) @

43,

—m o (s) W
530" (Yas 44 W3 45) fagwr §'5g Rigw, mﬁ'aa
Hvﬂa&uitaaah&yarﬁw?

44. mh

45.

S VAN
K




46. 1f a mirror is placed on the line x y then which of  46. ﬁaamg&wxyeﬁmmw%ya&ﬁsw
theanswerf’gures1stherlght:mageofthegwen feﬁ'ﬁa'arﬁ'aaf%aa ﬁ?a@ﬁzaerah

figure. -y 99|
- Question Figure : : “”ﬁ ﬁaa'
X ' X
! . _ _ ¥
Afnswer Figures: ! _ Q"sa' o)
olelelel R
@ 3 (4} - o ' {i} {2 3 {a)

47. lf;amlrrorlsp!acedonthelmeMN then whichof 47 Aqg BT § I MN Qg e 7o S
the answer ﬁgures is the correct image of the g:ven et fed fagar §'ae figa fea 3@ s foge

figure? . - , - o i ySifim 3@
ém | | s
m-!!;uu: .

%%%@, RS

(n 2 3) 4

48. How many triangles are there-in the following 45 Wﬁgﬁmﬁgﬁ%fgﬁﬂm?

figure? _
1) 20 2) 24 1 20 ‘ 2 24
3) 28 4) 32 3) 28 4 32

Direction (Q. 49-50) In each question, choose the water fratw (UEs 49 w3 50) fous RS e wivet/Nisg or
Image of letters/figure from amongst the four i ¥ fanr ysifig (waterlmage)mfé@ﬂiw

alternatives given as 1,2,3 and 4 B feasut 1,2,3, W3 4 fe 55
49. N4tQj3 | S 49. N41Qj3

) Meeo13 ' D uneeol2

2) Utilore 2) Uhiore

3) U013 3) 013

4) V10 re R | 4) N6 e

10



50.

50,
) ® -
11 T
+ .
W A (‘\i 3
W QH @ 4
ENGLISH

Q 51-55 Read the following passage given below and answer the following questions.
People invent things to enhance their lives. Today, inventions are mostly improvement of previous inventions. -
With technology, inventions are taking a shorter and shorter time to complete. On such inventions is the camera.
When inventors first tried to take a photograph in 1558, the image could not stay on the paper permanently., It was
only in 1837 that inventors managed to produce pictures that did not fade away. .

The first under water camera was invented in 1856. It was placed in a tightly sealed container. However,
when the contraption was under water, the container broke before many pictures were taken. Less than 20 years
later, technology allowed under water cameras to go even deeper into the water and take coloured photographs. The
cameras even looked like fish! '

51.

52.

53

How are inventions of today different from those
in the past?

1) They are not original

2)  They can improve people’s lives

3) They need lesser time to complete

4) They tend to be more useful

What problems did inventors face when they first
tried to take photographs?

1) The image did not appear on the paper at all
2)  The image was different from what they had
photographed '
'3)  They image lacked colour
4)  The image could not remain on the paper for

long

How many years did it take the inventors to finaily
produce permanent image on paper using a camera
aftertheir first try in 15587 '

1} 1837 Years

2) 389 Years

3) 279 Years _
4) " 297 Years C

55.

54.

The first ‘underwater camera could not

-----------------------

1) Take clear pictures

2)  Be placed in a container
3) Take coloured pictures
4)  Go too deep under water

The cameras probably looked lfke fish because:
1) They would be able to blend with the fish
underwater

| 2) The photographs were in colour

3) It would attract more people to buy them
4)  Only such cameras could go under water -

- Q. 56-60 Read the follbwing passage and answer the

11

questions that follow:
The buik of our population is poor and illiterate.

Their sorry condition poses a problem. On one hand there
is a shortage of teachers for adult education and on the
other, the adults feel shy of starting to learn at a later age
and attend classes. Moreover, the adult villagers have
little time to spare for attending classes as the job of a -
farmer is very strenuous. In addition, he finds that what



is taught at adult centres of education has no bearing on
his daily needs. Therefore he has become cynical about
adult education. It is necessary to make it more
meaningful for the farmers in the villages. In towns and
cities also, emphasis should be laid at increasing literacy
rate and encourage adult education.

Though it can be made work based and useful to
arise their interest. It should comprise a type of system
in which eamning and learning go together. Efforts to
enhance adult education will ultimately discourage
tendency to migrate to towns for better earning.

56. What is needed to impart adult education in
villages :
1) It should be agriculture oriented
2) It should be free
-3) It should be compulsory
4) It should be available in all villages

57. The main problem in educating adults in villages

IS -

1) Financial helplessness to purchase books
2) They hardly find time to study and feel shy
3) Their inability to read and write

4) There is no room for schools in villages

58. The farmers have grown cynical about education
because | _
‘1) He has got no time to go to school
2) Knowledge imparted in schools is of no use
in his daily life
3) He has no money to pay his fees

4) © He needs rest and recreation after strenupus'

work

59. Adult education should be encouraged in
1) Towns and cities
2) Schools and colleges
3) Towns, cities and Villages
4) - Only villages

60. The education imparted should be
1) Entertaining and interesting
2) Useful and meaningful
3) Vocational
4) . Limited to cities

Q.61-65 Read the passage given below and answer
' the following questions

Have you ever wondered why authors write?
Sometimes they are inspired to create stories. Other times
they provide information about an interesting topic.
Whatever the circumstances, authors have reasons for
writing, This is called the “author’s purpose”. The three
most common types of author’s purpose are to entertain,
to inform and to persuade. Authors write many kinds of
stories to entertain including humorous, fiction, realistic
fiction, fantasy, fairy tales and fables. While fiction
entertains, nonfiction has a different purpose.

Many non fiction writings are written with the
purpose of giving information about an interesting topic.
Authors who write to inform must research their subject
to ensure that they convey accurate information to the
reader. Some examples of Texts that inform are
encyclopedia entries, news articles, expository non-
fiction books and interviews. Sometimes authors write
to convince their readers about something. This is called
persuasive writing . Texts that arc meant to persuade use
specific techniques to make the reader care about the
subject and to think about it in a certain way.

Q.61 According to the passage, authors who write to
inform want to
1) Provide information about a certain topic
2) Make the reader laugh, cry or scream
3) Convince the reader to do something
4) Invite the reader to critique their work |

Q.62 Based on its use in paragraph 2, it can be
understood that the word convey belongs to which
- of the following words groups?
1} Document
2) Communicate
3) Hide, cover
4) Detect, locate

Q.63 According to the author, texts that are meant to

persuade often:

1) Do not get much attention as texts that
entertain

2) Are very entertaining because they convince
the readers to laugh

3) Use specific techniques to make the readers
care about the subject '

4) Require a lot of research in order to ensure
accuracy of information

12



Q.64 Thethreemstcomontypeofmﬂtor s purpose -

arc;
D
2)
L)
4)

To influence, show and practice

To entertain, inform and persuade
Enlighten, change, improve

To force his ideas on others, to instigate, to
bring about stagnation

Q.65 Some examples of books that inform are:
1) * Story books, fables
2) Adventure books -
3) Encyclopedia entries, news articles
4) Gossip column books

Q.66-67 The following five seutences come from a
paragraph. The first and the Iast sentence are
given. Choose the order in which the three
sentences (PQR) should appear to eonplete the
paragraph. _

Q.66 S IOlympic games were held for the first time in
Greece in 776 B.C

L Ll R

-----------------------------------

S5 these games help to bring people together.

P - Now they are held after every four years.
Q -  They were restarted in 1896 by Coubertin
R - They were banned in 394 AD by Theodosius
Choose the correct option from the ones given

-below:
1) PQR 2) RQP
3) PRQ 4) RPQ
67) S1 The basic aim of education is to teach children

how to read and write.

8 e

X T

1 TR

S5 Therefore student should be taught more than
one language and also to have mutual respect for
all faiths

P - However in our schools, we are faced with
some problems.

Q - Students belong to different communities and
speak different language _

R - But more important than that is to mould
their character :

Chﬁoutheu_rnetepﬂnfmtteoiugiven

* below:
1) PQR 2) RQP
3) PQR 4) RPQ

. Q.68-69 l'i'ollowllg' questions have the second’

13

sentences missing. Chdose the appropriate

sentences from the given options to complete it;

A- By crossing the Indian Ocean Mihir Sen was

overwhelmed by a deep sense of joy and
thankfulness.

|: FOTSAR R :

C. The experience changed him completely and

he was never the same again.

1) It was a justification

2) He felt humiliated

3) It was a joy that lasted a lifetime

4) It was a flecting moment,

A) Long ago there were two brothers who
worked together.

John always took care of his younger brother
and kept him out of trouble.

They owned a small inn where passing
travellers would often stop to rest.

The elder brother, John was wise but the
younger onec, Jack was foolish,

3) One day, John went to a nearby river to fish,
leaving Jack incharge of the inn.

4) Asa group of travellers appeared, instead of
being helpful, foolish Jack annoyed them. '

68)

69)

B)
C)

)

2)

Q.76-79 Choose the correct word that best fills the
biank from the four options given below:

70) .. is &8 paper written in one’s own
handwntmg.
1) Manuscript 2) Transcript
3) Biography 4) Autobiography
71} The donkey .......... when the heavy sack was
placed on its back.
1) Brayed 2) Grunted
3) Trumpeted 4) Bellowed



72)

73)

74)

75)

76)

()]

78)

79)

The............. of directors will be having a short
meeting. ' '
1) Company 2) Staff
3) Board 4) Bench
A of rats destroyed the crops,
1) - Swarm 2) Plague
3) Pack 4) Troupe
The police has captured the entire... ... of thieves.
1) Troop 2) Gang
3) Crew 4) Party
The .coovvvenrrnnne of teachers organized a picnic
party.
1) Staff 2) Gang
3) Panel 4) Team
A of bees attacked the boys.
1) School 2) Cluster
3) Flock 4)  Swarm

The hardworking farmers tilled their land from
dawnto.............. .

82)

83)

84)

85)

- 3) Getacross

The soldiers fought bravely before they
surrendered.

1) Gaveu 2) Gave away
3) Turned back - 4) - Passed out
Peter resembles his father greatly.

1)  Looks after 2) Keeps up
3) Takes after 4) Puts up

It is time to discard all of these old tax records.
1) Done over 2) Do away with
3) Cutoff 4) Cut in

Please review your answers before you submit your
test. |
1) Goback Find out

Go over

- 2)
9

Q.86-93 In the following passage there are some

1) Dusk 2) “Midnight

3) Twilight 4) Sunrise

Fresh bread will become ...........after a few days.
1) Dull 2) Dy

3) Tasteless 4) Stale
The...vvneenn.. Meat was placed over the fire until.
it was cooked.

1) Tough 2)  Had

3) Lean ‘4) Raw

Q. 80-85_ Select the correct phrasal verb for the -

80)

Slj

3) Pulldown

underlined word from the options given below:
The guests arrived at the function punctually.

1) Turned up 2) Came down
3) Called up 4) Called off

Please remove your shoes before you enter the
house.
1) Take away

. Put off
Take off

2)
4)

14

numbered blanks. Fill in the blanks by selecting

o the most appropriate word for each blank from

86)

87)

88)

89)

90)

the given options,

In tropical countries, certain crops are grown

86) ....vennin the year. These countries have
87) ....... [ rainfull for the crops. They
also have plenty of sunshine what
88) e the crops. More food than is
89).....c00ieeeersen.. caN be grown in these places.
But there are other countries in the world where it
is 90)........ to grow crops.

1) Along 2) Over

3) Through out 4) Across

1) Sufficient 2) Little _
3) Plenty 4) Inadequate

1) Opens 2) Gathers

3) Destroys 4) Ripens

1) Cooked 2) Requi_red

3) Planted 4) Used
‘1) Difficult 2)  Rough

3) Smooth 4) lfnpossib.le




9.
92.
93.
94,

95.

96.
97.

98.

3. Karnataka -

3. Robusta

"Geography

Tropic of Cancer does not pass through wh ICh of
the following states
1. Rajasthan 2. Gujarat

4, Madhya Pradesh

Which of the following rivei's falls into Arabian
sea?

1. Mahanadi
3. Brahmaputra

2. Ganga
4. Narmada

The western Coastal strip, south of Goa is known

-as.

2. Coromandal Coast
- 4. East coast

1. Konkan coast
3.Northern Cast

Which of the following crop requlres more water
for its growth?
1. Wheat
3. Pulses

2. Barley
4, Rice

Tides occur mainly due to the following factor.
1. Gravitational pull of the earth

2. Sea Winds

3.Gravitational pull of the sun and the moon
4, Heating of Ocean Water

Which of the following soil is also Known as
‘Regur soil’?
1. Laterite soil 2. Alluvial soil
3. Black soil 4. Desert soil
Which one of the following is not a type of coffee?
1. Arabica 2. Britannica .

4, Liberica

Approximately at What dégree of latitude the Gulf
Stream (warm water current) and the Labrador
current (cold water current) meet near Newfound
land?

1. 20°N
3.20°8

2.45°N.
4.45°
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101,

102.

103.

104,

105.

In which Industry limestone is mostly used?
1. Paper - 2. Cement
3. Petro-Chemical 4. Textile

Which is the largest delta of the world?
1. Danube-Don Delta

2.Volga Delta -
" 3. Kaveri Dehta

4. Sunderban Deltg
History

What was the Profession of Guru Nanak Deviji’s
father

1. Jagirdar
3. Patwari .

2. Peasant _
4. Shopkeeper

Which Guru started The manji system?
1. Guru Amardas ji

2.Guru Angad Dev ji

3. Guru Ramdas ji

4, Guru Arjun Dev ji

Which religion has Protestant as a branch?
1. Hindu Religion

2. Muslim religion

3. Sikh religion

4. Christian religion

Of which country Columbus was native? .
1. Italy

2. Japan
3. Germany

4, China

The second world war was fought

1. Gemmny, Japan, Italy- France, Britain, Italy

~ Soviet Union & United States -

2. Germany, Britain, France-italy, United States

3. Germany, United States- Britain, France

4, Britain, France, Soviet Umon -Germany,
-Japan, United States
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107.

108.

109.

110.

1.

112,

What is the name given to Punjab by the Latin

Historians in Latin Language?
2. Sapat Sindu
4. Lahore Suba

1. Penta Patamia
3. Panch Nand

What was the basic objective of the Vemacular

press Act?

1. To ensure reports and editorial in the
vernacular press

2. To Promote freedom of Press

3. To censor forelgn press

4. None of the above

Who wrote Kadambari?
1. Bana Bhatta

2. Raja Ram Mohan Rai
3. Mahatma Gandhi

4. Raja Rai Verma

Who developed the Principal of Garden city?
|. Ebenezer Howard

2. Charles Dickens

3. Thomas Hardy

4. Andrews Mearns

Who invented the Steam Engine?
1. James watt "

2. New comen

3. Richard Arkwright

~ 4. None of the above

Civics

The Indian constitution has article
1.393 2.394
3.395 4.396

Which of the following is not work of legislature?
1. To make laws

2. To amend constitution

3. Administration
4. Control Money

110.

111,

17

106.

107.

108.

109.

112.

.aavﬁ1bﬁnrnaﬂﬂi§ﬁﬂuiera+§pr#taur

feg st féar 37
1. Uerienitnir
3. g4w

2. =z fig
4. 530 g

FEIST YA e er s QA &t it 7

1. I%ﬂaz*nn?ﬁnn%mﬂ%%u*erwnnvqnﬁrﬁn
nifafawny er Fdtue aaar

2. Jn et wrarelt Yonrias qest

3. feet in o fadthue aaar

4. QUiEz TR 5T

Fongdt far 3 feut?.
1. 98T@et
2. I I How ofe

- 3. HOTSWT Frat

4, AT IE FOHT

araws WA v g fan & fSav it 7
1. nfgatae Jwos

. 2. 998N feaan

3. §WRTaET
4. aT faQ vazw

s R o B fard aftt 7
1.7 ee

2. faQans
3. fowow wraaaele

4. QuIaz fed vt A 5

safoa BHaT

3t ifewrs fé i3 wigde a5~
1.393 . 2.394
3. 395 4.396

I%a*ﬁtﬁﬂhaa*énrﬁarauﬁhafansﬁtﬁni
sT?

1. 345 ggar

2. ffqus féw g

3. yaAs gnger
4.95 2 &35



113.

114,

115.

116.

Which among the following is vested with
Residuary powers in the Indian Federal Structure:-
1. State

2.Centre

3. Both centre and State
‘4, Panchayats

The Governor’s salary and allowances are Charged
on:- :

1. The consolidated fund of the State

2. The Contingency fund of India

3. The Treasury

4. The Consolidate final of India

Which day is Celebrated as Human Rights Day
around the world
1. 10 December
3. 8 March

2. 2 February
4. 5 September

In 1954, India signed Panchsheel, Agreement with

‘which of the following country: -
1. Bangladesh 2. China
3. Pakistan 4, Sri Lanka

117. As per the constitution of India which of the following

institution is entrusted with the power of Judicial
Renew:

1. Lok Sabha

3. Supreme Court

2. Rajya Sabha
4. President

118. Minimum age required to become a member of Rajya
Sabha is: '
1. 21 Years 2. 25 Years
3. 30 Years

119.

120.

4. 35 Years

The basis of the formation of UttaraKhand,
Tharkhand and Chhattisgarh States is

1. Cast 2. Population

3. Regionalism 4. Communalism

For which of the following groups, seats are not
reserved for any of the Elections:-

1. Scheduled Tribes 2. Scheduled Castes

3. Physical Disability 4. Women

18
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122.

123.

124.

125.

126

127.

Economics

The time Period of Ist five year plan of India
1. 1948-53
3. 1950-55

2. 1949-54
4. 1951-1956

Continuous and high increase in general Price
level is called......
1. Trade cycle

3. Deflation

2. Inflation
4. Recession

‘Under Mdnopoly, the relation between Average

income and Marginal income is
1.AR>MR 2.AR=MR
3.AR<MR 4. ARMR=co

... is the ratio of Consumption expenditure and
income
1. APS
3.MPS

2.APC
4. MPC

Who is the chairman of planning commission of
India?

1. President

3. Finance Minister

2. Prime Minister
4. Home Minister

Chemistry

. Polymerization of which compound will give

benzene

1. Ethane
2. Ethyne
3. Ethene -
4. Methane

Volume of CO, liberated at STP on burning 24g
of methane in excess of air is

D 1120

2) 22.4L

3) 33.6L

4) 44 8L

121,

122.

©124.

125.

126.

127.
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128.

129

130.

131

132.

133.

134,

280,(g) + O,(g) -» 250,(g) +heat
Fovourable conditions for the reaction are
|. Low pressure, high temperatures

2. Low pressure, low temperatures

3. High pressure, Iow temperatures

4. High pressure, high temperatures

10g of CaCo, contain

1) 10 moles of CaCo3
2) 0.1 gm atom of Ca

3) 6x10% atoms of Ca
4) None of these

Aluminum and phosphorus betong respectxvdy
to groups

1) 10 and 12 . ;
2) 13 and 15 "

3) 10and 15

4) 12and 13

Which of the following is the most metallic
element?" .

I. Oxygen ‘ ‘

2. Fluorine '

3. Krypton

4. Beryllium' :

Cy

In each of foHowmg compound carbonyl group
is present except in -

1. HCHO ' 2. CH,COCH,
. 3

| Il :
3. H-CH,-OH 4 | CHCH |

i

Which of the following would yield 2 basic oxide:

1. Sulphur
2. Sodium
3. Silicon
4. Phosphorus

H

Solution which contains [H*] ion oonc- 103 molel

litre, the PH of Solution will be - |

293 i
4) 10° '

1)1
3)8

128.

x29.

130,

131.

132.

133.

134,

280,(g) + O,(g) = 250,(g) +heat ,
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140.

141

In which of the following colloids both dispersed
phase and dispersion medium are liquid

1. Blood 2. Smoke

3. Paint 4. Milk

Total number of atoms present in 0.49g of H,SO ,is
1) 2,1x10% atoms 2) 6.02x10* atoms
3)3.01x10* atoms 4) 1.2x10* atoms

Biology

Which of the following statement is not correct

about Parenchyma tissue

1. The cells are thin walled .

2. Large cells are placed together with inter
cellular spaces

3. The cells are loosely packed

4. The cells are thick walled

Name the fish whose skeleton is entirely made

up of cartilage
i. Shark 2. Rohu
3. Draco 4. Tuna

Which of the following helps to transport Glucose
and oxygen from the mother to the embryo?

1. Placenta - 2. Fallopian tube

3. Ovary 4. Uterus

In diabetes mellitus the patient drinks more water

as there is loss of........... during Unnat!on
1. Salt 2. Insulin
3. Protein 4, Glucose

Which of the following pairs is incorrectly
matched

1. Malaria-Anopheles

2. Plaque-cat

3. Dengue-Aedes

4. Food Poisoning-Cockroach

141,
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142.

143.

144.

Adrenal gland is associated with
1. Pharynx . 2. Pancreas
3. Kidney 4. Brain

The Wings of an Insect and a bird are the example
of ‘ '

1. Analogous organs

2. Homologous organs '

3. Vestigial organs

4, Atavism

Pollen grain represents
I. a male gametophyte

' 2. a female gametophyte

145.

146.

147.

148.

- 3. a male sporophyte

4. a female sporophyte

A farmer wishes to start poultry farm. But he is
not aware about the type of birds, suggest him
the name of Indlgenous breed

1. Aseel

2, Jersey

3. Leghomn

4. Bos Indicus

Which of the following dlsease is caused by virus?
1. Diphtheria

2. Influenza

3. Typhoid

4. cholera

The terminal end of a Chromosome is often called
1. Centromere

2. Chromomere

3. Telomere

4. Metamere

Humans are Unable to digest the cellulose of the

food because

1. Their stomach is not divided into
compartments

2. The lumen of the small Intestine is narrow

3. They are Unable to chew cellulose

4. Certain bacteria are not present in humans that
are present in ruminants

142,

143,

144,

145.

146.

147.

148.
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perimeter. If the diagonal of the square is

152.

153.

154,

Mathematics

Ifa'?+ b'?+ ¢ =0, then
1. atbte=0

2. (atb+c)’ =27abc

3. atb+c=3abc

-~ 4. altbi+e’=0

Ifx"+101 is dlv:ded by (x+1), then reminder is:
1. 0 2. -1
3. 49 4, 100

A square and equilateral triangle have equal

12+/2 cm, then area of the triangle is.
l. 242cm* 2. 24./3 em?
3. 48/3 cm’. 4. 64+3 cm?

A bag contains 50 coins and each coin is marked
from 51 to 100. One coin is picked at random. The
probability that the number on the coin is not a
prime number is;

. 2
| E
L
5

U\ll\.) | —

If V1369 + \f0.0615+x =3725, then the

value of x will be;
1. 10 2.

3. 10 4,

102

6v5

X take§ 3 hours more than Y-to walk 30km. But if

‘X doubles his pace, he is ahead of Y by 14 hours.

Their speed of walking is:

20
1. Tkm/hr., 6km/hr.

30 -
2. ?km/hr., 3km/hr.

40
3 ?kmfhr., 4km/hr,

10
4. "3“ km/hr., Skm/hr.

23

149,

150.

151.

152.

153,

154.

afex. |
AAg a'?+ b+ 2 =0, FR I
1. atbtc=0
2. (atbtc)® =27abc
3. atb+c=3abc
4. a+b+ci=0

53 X +101 $(x+1)wﬁmaﬁa’f&fa"}
T

Lo . 2. -1

3. 49 4, 100

fear Faar w3 rvarg fagw o Wler s &1 99
T ¥ feaas &t dwret (5.2 AW IR Staveg
fagw er dzTes: .
. 24 2. 243 AP
3. 483w 4 64+/3 I

¥ &3 few so @ 75 fAaat €3 51 2 100

I Afiret fadint et 7% 1 fast @8, Marsa

Y fitar &8 fe§ dfenr Ter § 1T uzgr

ghd’émﬁﬁ&%ﬁﬁrmﬂrmﬂﬁwm
!

3 4.

t..n|A u.|u

AT /1369 + f0.0615+x =3725 IR St x

o iw & 389
. 1 2.

3. 108 4.

10
65

X, 30 hﬂmﬂzaﬂawéazm‘tvwﬁ‘sﬁ%
e met 327 3 1y9 AF9 Xyt o garet

aaz%‘af%aw‘éaYmﬂ‘lgtﬂ%u&mfuavw
313+ Quat & 9w at 327 2

. ?hmmasﬁﬁMa
30

2. —3—fa~.m:/u]zf, 3 fanitnirzr
40 ) .

3. ?h:}'ﬁ':ﬂtl?", 4 fafh nirer

4. ?wﬂmashWMa'



155,

156.

157.

158.

159.

The prime factorisation of the number 32760 will
be:

1. 2’x3%x52x7?x13

2. 2xFx5xIx13

3. 2%x32x5xTx13

4, 2x3x52x7x13

The vertices of an equilateral triangle are (a,a),

(-8, -2) and (—3a, v3q). Its area will be (in sq.
unit)

1. 3J2a 2. 324°
3. 234 4 2\/5 a
If a= -0.1039 then the value of
Vag® —4a+1+3q is .
i. 0.1039 - 2. 02078
3. 11039 4, 2,1039
If pth, qth and rth terms of an A.P, are a,b,c
respectively then the value of
- a(gry+ b(r-pyte(p-q) is equal to:
| 2.1
3. -1 4.0
34

Thf solution of (x-3) (x-_4) = W ?s:

98 133 97 132
1. —or — 2. —or —

33 33 32 33

9 131 95 130
3. —or— — or —
S 33 33 33. 03

160.

161.

Ifthe radius of a.circular wire is decreased to one-
third and if volume remains the same, then the

length of the wire will be:
1. 3times ' 2. 6 times
27 times

3. 9times 4,

In the given ﬁgﬁre O is the centre of circle and
£ZDAB=50", then the measure of x & y are:

x =90° y=120°
x =60°, y=120°
x=70,y=130°
x =100°, y=130°

o=

155.

156.

157.

158.

159.

160,

161.

Waznoémm%fdmﬂfv@‘
faus o=

1. 23x32x5?x7?x13

2. 22x3%x5x7x13

3. 2x3x5x7x13

4. 2’x3'x52x7x13

few HHEFﬂ' fa@e @ fAYT (a.a).(-a, -2) M3
(~3a, 3a) 3= St fen @r d39Es @A
feavent &g uzT a:

. 324 2. 3/24°
3. 24347 4. 243q

AF3a=0.1039 33" Jaa° —4a+1+3q0 THS
HITH Jeam
1. 0.1039 2. 0.2078

4. 2.1039

3. 1.1039

77 pat, gt w3 ot e R vimafefaw wEt

&8 PRI ab,c I It a(gr)+ b(r-p)*ﬂp-q) S
H® gavge J¥am -

1. 2 2.1
3. -1 4.0
34
x-3) (x-4) = DL e B &t e
98 -~ 133 | 97 ‘132
1. T A %) 2. ﬂ"‘
96 131 95 130
37. B a'f 4, # 3
ﬁaafaﬁamwwwmmwz@élw
: mmaﬁ%»@%wvmmﬁ?
6 g9 &t &uvet 3 w1 .
1. 3ger 2. 6T
3. 9gar 4, 271 g
43 ffsT f¥e, 0 ¥av o a'es ¥ Aue
£DAB=5(° 3% 3" x %3 y T Y 3|
1. x=90°y=120° 0
2. x=60°y=120°
3. x=70°y=130°
4. "x=100° y=130° v



162.

:hb-)N-‘

163.

164..

163.

In the fi gure, a circle touches the side BC of AABC
at P and touches AB and AC produced at Q and R
respectively. If AQ= Scm then perimeter of AABC
is: : '

10em
12.8cm
11.8cm
13cm

IfA, A, and A, denotes the areas of three adjacent
~ faces of a cuboid, then its volume is:

I AAA,
2. 2AAA,

3. JAAA,

4 4,44,

In the figure A and B are the centres of two circles .

of radii 9cm and 2cm, such that AB=13cm and
2 ACB=90°. Where C is the centre of another circle
which touches the above two circles. Then the area

of the circle with centre C is:
in cm? )
Y

In? cm?
91t cm?

9.7 em?

ol

.the value of

162. f&2 fége fea fda 339, AABC et 37

163.

164.

165.

_25

BCEP
énuaaaaerﬁm%m ABméAca-zmgz
3 feo =9 Q W3 R I AUIH adeT ¢ AaT
g@Smﬁ%?AABCe*ﬂ?(mu)ma

1. 109

2, 12.8AW

3. 11.8M

4, 13AH

AATALA A, fai were € 55 ware fow

aw%émazarenmwwﬁwaw
d=ar:

1. AAA,

2, 2A A A,

3. JAALA,
a4,

f&3 f939 f&s A »3 B degt 8 Jagt & »i9w
fEnA AT 9 AN M3 2 AW 38 W3 AB=13R¥
3, 999 LACB=00° 32, 8 CGndag era'ed
35 ufgd 89 ¥t maaefa 3+a'aac_
TV JqT T YIS

3n M2
O AY?
Or AH?

9frr M?

AW

a+2y
HS
a-2y

4xy
x+y

a+2x .
+
a-2x

Agg a=

—
.




166.

167.

168.

In the figure, CD is the diameter of circle with
centre O. CE and DE are equal chords and AB is
an another chord. If ZAOB=90°, then the ratio of
areas of ACED and AAOB is :

1. 2:4 E
C_o
A

2. 31
The ratio of a cube to that of a sphere which will

3. 53
4. 41

exactly fit inside the cube is
1. 4=

2. 5%

3. 6&rn
4, T:m

Complete the sentence with suitable answer from

the options:

“Every real number is either a..........cccenu... number
(01 oF: | number.”

I. natural : integral

2. rational : irrational

3. irrational : whole.

4, rational: natural

Physics

169. Which of the following responsible for flow of

water in rivers?

1} Force of friction

2) Kinetic energy

3) Gravitational force .
4) Electrostatic force

170. 2kg ice at 0°C is mixed with 8 kg of water at 20°

C. The final temperature is
1) o°C

2) 20°C

3) 16°C

4) None of these

26

166.

167.

168.

ﬁ@ﬁaafza,ﬂ’eaoe'ﬁéaaeff@mcn

J1 € E3at (F#e=h) CE W3 DE 99790 I8 w3
f¥mr J9 /teT/239 AB T IRA@ ZAOB=90°F2 It
ACED %3 AAOB 2 ¥3dest €7 Wgu™a Jeam
1. 21 £

2. 31
3. 53 ,
4. 41 - o

fEg wE »2 Taar o »igus v fa w9, we
#ag ydt Ig* fée T /2, 5

1. 4=

2. 5=®

3. 6n

4, T:=x

f&3 58 Q'sot fe mut & ST w9, TT YT a3 |
“T9 féq Twafer Afar .......... fifor 1 3

gfax fefopis

169. faaaT 9% ot & vt @ Tore set filea ¥

170.

1) WE S

2) aifsw Qaar
3)dgarem
4) Rfgg-famwel o5

o%am?zkgaaeé;zmcwskgma’rféa

iz Qe 3 f&ar Iruns JRar?

1) 0°C

'2) 20°C

3)16°C .
4)fea#ﬁﬁ'ae‘tm‘l‘

1



171.

172

173.

174,

175.

176.

177.

A wave completes 24 cycles in 0.8 Sec The
frequency of the wave is.

1) 30Hz

2) 8Hz-

3)24Hz

4) 12Hz

Van Allen radiation belts were discovered by?
1) Explorer-1

2} Viking-1

3) Aryabhatta

4) Sputnik

When 60 calories of heat are supplied to 15 g
of water, the rise in temperature is

1)75°C

2) 900°C

3)4°C

4)025'C

| gauss is equal to
1) 10'T
2) 10°T
HNIT
4 10°T

4/25 coutomb of charge contains........... electrons.
1) 10"
2) 10%
3)10%®

~4) None of these

One erg is equal to
1)1 gem §2

2} INm

3) 101

4) 107)

A force acts for 10s on a body of mass lOkg

after which the force stops and the body covers S0m in
the next 5s. Calculate force:

1) 20N
3) 10N

2) 15N
4) 30N

'171.

27

172,

173.

174.

175.

176.

177.

fex3d@r24 $a9 0 eﬁﬁzﬁmﬁaaaﬁlfan
ot niregat Jai:

1) 30Hz '

2) 8Hz

13)24Hz
4) 12Hz

#mmwwmﬂmmﬁ
1) HERuBas-1

2) feféar-1

3) mrdtnir g2

4) ny3fss

AT 60 A8 IV 15gm vt § fzT e It
T Iunrs waar

1)75°C

2)900°C

3)4°C

4) 0.25°C

g dwsawg ger d
1) 10°T
2) 104T
3) 10°T
4) 10°T

4/25gBHeaRfEm.............. feBas g2 os)
1) 10%

2) 10

3) 10®

4) agt zat

T ver e for d
1)lgemS?

2) INm

3) 107}

4) 107]

10 fa® gmi U =%t féw g 3 3¢t w5 10
Rfés setfafonr aser i w3 @n S eme am ger
femir mitar d A wawd 5 Aférs i 50 e got
3fT Tt 3 1 9% famrrg a3

1) 20N 2) 15N

3) 10N 4) 30N



178. To produce an echo, the minimum distance the sound
must travel between source and reﬂector
1) 16.2m
2)8.2m
. 3) 34.4m
4) 17.2m

179. An object is placed 30cm in front of a convex mirror
of focal length 15cm. Calculate the nature and position
of i image

1) Image is real, inverted and 15cm behind mirror .

2) Image is real, virtual and 20cm behind mirror
3) Image is erect, virtual and 10cm behind mirror
4) Image is real, virtual and erect and 15cm from
mirror

180. Five electric bulbs having resistance of 440 ohm
each are connected to a supply of 220 volts. Find
electricity bill if bulbs are lighted for 5 hours a day for
30 days. The cost of one unit is Rs.3 '

178. a‘mﬂwms&’mﬂn@ma&uﬁa
iz forat gat 3w aeat udat

1)16.2m

2)8.2m

3) 34.4m

4)17.2m

179. & TAF 15cm TaA-gat @ f'g @as caue @
m@aocme‘teﬁéé‘u?m&ms’rﬁa?nguné
Afast yar a9:
1) ySifde swsfe=, QBZTMQEWE% 15cm
fig geerd)
2) ySifdgeamafes, »@n“rm?em%mcm
fi2 gaer 3
3) ydifde fitar, et w3 aus € 10cm fi@
seerd
4)yyFftgemsfea, mwﬁmgﬁuw@wcm
figwzerd

180. ﬁm%ﬂﬁmﬁ,mﬁ%ﬁ‘aﬁa@qﬂw
44093, 200V ArAUEE T AfPurAter 3 A wat
& y3t fow 5 Wre =¥t 30 fogt T3 Foviowr o 3t
favsterfasyarayd, a@‘ﬁﬁawﬁrzwﬁwsmal

1) Rs. 258 1)258 que -

2) Rs. 228.50 2) 228.50 gu®

3) Rs. 230 3) 230 gu¥

4) Rs. 240 4) 24'0 gué' -
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